MOS 2’4 2016
13. GIO[E{&,F

=
T

/




AL CiolE] $3 thehaat

= Glojg| 5%

' ClIOIE] & CHRHY AL




HIO|E| &

ol = 574 {9 ¥igto] o2 2uife] fshi g S # JHI = BAlS 5+ 7HI=4 =410t
[HI O R & - [Pt = A]-[H| O] B ]

| 4 A| B C D E | F G - | J
1
2 UES yE 3 OIRtE U AZY|ZH WSOl M2 ABTN(T) ZHE
3 EE 20000000
4 |d0I8 12% AE712H)
| | Atst7|ZHd) 5 =CH 2 3 4 5
6 |AEINF)! 2448389537! olxtE —
7 9%
8 10%
9 |oiE = 7 x| 11%
10 o et (R (9095 12%
1 |2 ee e [scu =] 14%
12 15%
13 E0l -




stst A o
2 38E A
aF A olw &FA - &F A I A F ORI AZF 3L A A T 1Mzl 1 T @zl 1o
o ARET £ Q=S A TS, o, AU, A ALY, O, A S, BE TR B E 2SS EHAL ®
u =
- | 4| A B C D E . G H I J K
o 9= [HlolH]-[Hloly =F]—[5] HREPE Y It N2 PE A Y
2
3 Ed 0l& st 7|1 A Bl 0|& 7t 7| SHA
== 7 s 4 | 201623024 | 2adl 67 76 143 201623024 | Z44I 80 75 155
e 5 | 201623029 | AFo 98 95 193 201623020 | AZH g8 100 188
W ] 6 | 201623030 | H=7 88 56 144 201623030 | =4 75 65 140
T 7 | 201631010 | 0|22 83 78 161 201631010 | 0|23 77 68 145
= = TS g x|
| = [zo=5E., | 8 | 201631013 ;L_E 65 77 142 201631013 ;L_E 88 77 165
P & s 9 | 201631028 | ZFZE | 85 92 177 201631028 | ATZE | 75 80 155
- 10
ST |
;] 1 HH 4™ gt
] SEHICDD 12 she =7t 7|2
NET 0= 13 | 201623024
] & #(D) 14 | 201623029
ZIZ Hil) 2 HOEH HB(E) 15 | 201623030
16 201631010
L= J[ =2 | 17 | 201631013
18 | 201631028

A




